TR 26EE &l B3F = =
| 2R
(BB ITYY) A Az Kk b == HE 8:10
Z ¥ 8:15
8 15 |HEFSY |2RFEL | BEHs EBEEITH BEHIFH |XAFHKEDO
(BEB)|IREF L |RAELE |[Famy i € ( H B )
(1 EX (3t &) |HEOBHM | S<CEUEX 7:40
158 %0%9)
8 30
== X EH =
8 : 45
D) 1 6 1 2 18 2 4
9 30
IA< F> B (=3
9 : 35
=) 2 7 13 19 25
10 : 20
1A FF B =3
10 : 40
€)) 3 8 1 4 20 2 6
11 2 5
A< FH B 23]
11 30
@ 4 9 15 2 1 2 7
12 15
B B 5 S 1
13 00 , ,
R K& (B | R K H
13 :30 m-----o- :
br=—1 5= 113:40 ~ 3 g1 | i
13 5 0 -
e 1
13 5 5
& 5 10 16 2 2 28
1 4 4 0
2HBE 5 4tk ZHRE S
1 4 4 5
@& |14:55~ 1 1 17 2 3 14:55~15:40
—F T & $84-937°
15 3 0 | & W& B #
U5 S IERRE|ZBRE | ZHEE 16:40
XREOERBTHR 16 00
XE AN AER RHEE —FTHK(14:55~) A 1EER




